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Solving Exponential and Logarithmic Equations

1. Solve each exponential equation.

a 6.7(—2 - 63):—4 b 81—1 = l o 5.:—2 — 1
' ' 4 125*
x-2=3x-4 == 552 = 5-3x
2=2x 3Ix-3=-2+2x X—-2=-3x
x=1 x=1 x=1/2
1-2x
d. 4" =128 e. 3" = (\/5)”' f. 125" = [%J
(25 =27 x-1=1/2x+% 3X-3=-1+2x
10-2x=7 2x-2=x+1 x=2
x=32=1.5 x=3
g 2% =4 h, 7% = [iJH i 8372 =42
49
Ix-1=2x+4 2x+4=2x+6 6x—-6=4-2x
x=5 4x =2 8x =10
x=1/2 x=54 =1.25
j. 10=3.91 k. &6=5.7 1.5%=17
log10* =10g3.91 Ine*=1n5.7 log 5 =log 17
_ log17
x = log 3.91 x=1In5.7 = = |, H 04
X= ,FALZ A= .05 o8
m. 5¢* =23 n. e'*=793 e™3-2=10476
e*=23/5 In &%= 1n 793 In 3= 10,478
Ine*=1n4.6 1-5x =In 793 5x-3=1In10,478
1 —
x=In 4.6 \ = -%—1- X = 105’478
=|.0Zb - .
o X="11252 X= 24514
p. 7*?=410 q.37=2 re* —5e% _24=0
log 7***=log 410 log37=1log .2 (€™ - 8)(e*™ +3)
(x+2)log 7=1og 410 xlog3 = 7log .2 e==8 ¢*=3
xlog 7 + 2log 7 = log 410 - Tlog2 xmls L
log3 2 2
_ log410—2log7 X= —|0,2916 X=1.0%1%

log7

Xz ’l‘—{%ﬂ% 7=1.041%




t. e +5e** -24=0

(e™ + 8)(e™* -3)=0

-8 In3
x: x=_.-.

X= .264“75

w. 2¥ +2*-12=0

X 42X -3)=0

_ log3
log?2

X

u. e -3e*-18=0
(€™ + 3)(e** - 6)

e =.3 e =6



